Name: ___________________________________________  Period: _____

1.) You have sampled a population in which you know that the percentage of the homozygous recessive genotype (aa) is 36%. Using that 36%, calculate the following: 
A.) The frequency of the "a" allele. 
B.) The frequency of the "A" allele. 
C.) The frequencies of the genotypes "AA" and "Aa." 
2.) If 64% of the population is pure dominant, what % of the population is hybrid?

3.) If 25% of the population shows the recessive trait, what % of the population is hybrid?

4.) If 9% of an African population is born with a severe form of sickle-cell anemia (ss), what percentage of the population will be more resistant to malaria because they are heterozygous (Ss) for the sickle-cell gene?
5.) There are 100 students in a class. Ninety-six did well in the course whereas four blew it totally and received a grade of F. Sorry. In the highly unlikely event that these traits are genetic rather than environmental, if these traits involve dominant and recessive alleles, and if the four (4%) represent the frequency of the homozygous recessive condition, please calculate the following: 
A.) The frequency of the recessive allele. 
B.) The frequency of the dominant allele. 
C.) The frequency of heterozygous individuals. 
6.) Aside from “forming different species,” give one way in which divergent evolution and parallel evolution are similar.

7.) What is the difference between allopatric and sympatric speciation?

8.) Aside from geographic isolation, give three other ways in which populations can be reproductively isolated (prezygotic please) and explain them.

9.) What is the difference between Hybrid Inviability and Hybrid Sterility?
10.) Aside from mutations, give two ways in which variation could occur in a population.
